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Plan:

1) Linear extensions
2) Sorting probability
3) Poset inequalities

4) Proof of one RW inequality
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Log-concavity of exist probabilities

Theorem 1 [Chan-P.-Panova’21]

Let {X;} be the nearest neighbor lattice random walk which starts at the origin Xg = O € «, and is absorbed
whenever Xy tries to exit the region I'. Denote by T the first time t such that X; € (3, and let p(k) be the
probability that Xt = (m, k). Then {p(k)} is log-concave:

p(k)* > plk+1)p(k — 1) for all k€ Z, suchthat (m,k+1) €.




p(k)Q :z p(k - 1) p(k — 1) there is an injection
®: {(€ac,éBp)} — {(€acr,€BD)},
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there is an injection
®: {(§ac,€BD)} — {(§acr,€BD)},
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Thanf you!




